L
MFO-RO5 Series

Individual Wiring Type Manifold
Bar Type

MFUO-RC5
common SUP, common EXH,
port 1,3 & 5 on both sides

MFUO-RD5
Common SUP, common EXH,
port 1,3 & 5 on one side

(32}
3
O
-
[
o

Manifold Specificiations

MFUO-RC5 MFUO-RD5
Type of manifold
common SUP, common EXH, common SUP, common EXH,
port 1,3 & 5 on both sides port 1,3 & 5 on one side
Port 1 RcYs(Both side) RcYs(One side)
Port 3, 5 Rcs(Both side) Rc%(One side)
Port size Port 2, 4 M5 M5
Port Y — —
Port X — —
N: Number of stations 2~20 2~20
RCS245- 3¢ - 3 -MF
RCD245-> -MF
Mountable solenoid valve RCD345- 3 - % -MF
RCE345- 3¢ - 3 -MF
RCO345- % - 3% -MF
Blank plate PC5-BP

Optional Parts and Spare parts
Parts Name Model No.

Blank plate For individual exhaust of pilot PC5-BP

@ FONTAL B33



Representation

Manifold
Type of manifold
- MFU: Ported on the valve body,
ort 2 & 4
Q p
X
(@)
ol
“_\
w N: Number of stations

IMFU | 2 |- RC5 |-| M5 !

M5: M5x0.8

Mountable solenoid valve series

2 : 2 stations

16 : {0 stations

RC5: common SUP, common EXH, port 1,3 & 5 on both sides
RD5: common SUP, common EXH, port 1,3 & 5 on one side

Mountable solenoid valve

(RCS245|

|-IM5|—D24|SP | LB |—| MF |

Model No.
RCS245

(A) (B)
24

315
(R1)(P)(R2)

RCD245

(A) (B)
24

315
(R1)(P)(R2)

RCD345

(A) (B)
24

315
(R1)(P)(R2)

RCE345

(A) (B)
4

AT B

315
(R1}(P)(R2)

RCO345

(A) (B)
24

315
(R1T(PI(R2)

B34

|

For mounting on manifold

MF: For mounting on manifold

Note: A gasket & two mounting
screws come with valve.

Manual override
No mark: Standard (Non locking)
%LB : With locking button

L : Lead wire
SP: Connector with lead wire

Voltage

110: AC110V
220: AC220V
D24: DC24V

M5: M5%0.8

Special specifications
No mark : Standard (Individual exhaust of pilot)

@ %: Made to order

@ FONTAL




Dimensions

MFUO-RC5-M5

Note: Standard manifold is plugged on “R” (Right) side ports.

RC5

(Unit: mm)

RCS245
Repaas RCD245
L Type RS 16 16 16 | Portd: M5x0.8
Port5: .
Relé he
Port 1:
_Re% 1 i s | o
437
o7 &
D p R i A T ! I b (R)
365 -
el R (%
i /\ sl | L pED
Port 3: 14.5 3 58.5 ¥ T
Rel Y 2-445 l
56 3& 35 pP=16n+9 3.9\ Port 2: M5x0.8
‘ L=16n+16
blank plate
(PC5-BP)
305
| .
o 1w ]
SP Type
56
356
500
n P L n P L
60
} — | = | = [ 11 [185] 192
@ = 2 | 41| 48 | 12 | 201 | 208
y 7 | 64 | 13 | 217 | 224
72 3 [57 |6 3
D | * 4 | 73 | 80 | 14 | 233 | 240
) 5 89 | 96 | 15 | 249 | 256
¢ 6 105 | 112 | 16 | 265 | 272
7 121 | 128 | 17 | 281 | 288
8 137 | 144 | 18 | 297 | 304
9 153 | 160 | 19 | 313 | 320
5_0 10 | 169 | 176 | 20 | 329 | 336

n: Number of stations

@ FONTAL

B35

™
3
O
-
[
o



-
Q
Py
0O
O
&

B36

Dimensions

MFUO-RD5-M5

(Unit: mm)

Note: Standard manifold is plugged on “R” (Right) side ports.

RCS245
RCD34S RCD245
L Type s 1616 16 Port 4: M5x0.8
|
ot == - Port 5:
Rk ‘ i port
i 505, hsts J
N y % 449 l \’j I
L 4 (L) 4 35— | 1 R)
18 I,7514 & 4.9 I N
o - L # M BT
Eﬂ sy 387 NS, | 4:5.7505 T
: 535\ Zﬁ/ - t ( 5 \_Rel6
25 25
41 35 P=16n+9 39\ Port 2: M5x08
445 300 L=16n+16
2
blank plate
(PC5-8F)
j
19
i -
16 16
SP Type
® n P L n P L
356
— — — ik 185 | 192
530 2 41 48 12 | 201 | 208
3 57 | 64 | 13 | 217 | 224
4 73 | 80 14 | 233 | 240
5 89 | 96 15 | 249 | 256
i 6 | 105 | 112 | 16 | 265 | 272
@ ) 7 [121]128] 17 | 281 288
fas) 8 | 137 | 144 | 18 | 297 | 304
§ @ 9 |153]160| 19 |313] 320
! 10 | 169 | 176 | 20 | 329 | 336
n: Number of stations

@ FONTAL



